*Every Correct answer will add 2 Marks

*Every Wrong answer will deduct 1 Mark

CLASS - VII

Time : 1 hr. 30 min
Full Marks : 160
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10.

When did Virat Kohli become India’s Test cap-
tain?
a. 2015
c. 2014

b. 2016
d. 2017

Which of the following wrestlers is not belongs
to Haryana state player?

a. Yogeshwar Dutt b. Geeta Phogat

c. Dalip Singh Rana  d. Sakshi Malik

Ryder Cup is associated with which sport
a. Horse Race b. Football
c. Cycling d. Golf

Who composed Tabaqgat-i-Nasiri in the Delhi
Sultanate period?

a. Hasan Nizami b. Amir Khusrau

¢. Minhaj-us-Siraj d. Ziauddin Barani

The southernmost point of peninsular India,
that is, Kanyakumari, is
a. north of Tropic of Cancer

b. south of the Equator
c. south of the Capricorn
d. north of the Equator
The pass located at the southern end of the

Nilgiri Hills in south India is called
a. the Palghat gap

b. the Bhorghat pass
c. the Thalgat pass
d. the Bolan pass
The percentage of earth surface covered by
India is
a.2.4
c.44

b.3.4
d. 5.4
The Radcliffe line is a boundary between
(A) India and Pakistan
(B) India and China
(C) India and Myanmar
(D) India and Afghanistan
The state having the largest area of forest cover
in India is
(A) Arunachal Pradesh
(B) Haryana
(C) Madhya Pradesh
(D) Assam

The largest gland in the human body is?
b. Salivary Gland
d. Stomach

a. Oesophagus
c. Liver

11.

12

13.

14.

15.

16.

17.

18.

19.

20.

Diarrhoea is caused due to -
a. Infection b. Indigestion

c. Poisoning d. All of them

Single celled organism among the following is -
b. Yeast
d. Amoeba

a. Human body

c. Cow

The component food which is complex -
Carbohydrate
All of them

a. Protien b.
c. Fat d.

Bile is produced in?

a. Gall Bladder b. Blood

c. Liver d. Spleen
All organism need food, water and ____ for
survival?

a. CO, b. O,

c. N, d. Ar

The formation of a clot when bleeding is stopped
from a wound in a human body is due to -

a. RBC b. WBC

c. Platelets d. Haemoglobin

A resting person usually has a pulse rate
between -

a. 72 and 80 beats per min

b. 82 and 90 beats per min

c. 62 and 68 beats per min

d. 52 and 60 beats per min
An adult human being contain how much
amount of blood -

a. Avg5 lit

c. Avg 3.5 lit

b. Avg 6.5 lit
d. Avg?7.0 lit
Which blood cell are a significant part of the
immune system of the body -?

a. RBC b. WBC

c. Platelets d. All of them

Heart rate increase during -
a. Heart rate increase during -
b. Sleep and eating
c. Exercise and fever

d. Rest and indigestion
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21.

22,

23.

24,

25.

26.

27.

28.

29.

Identify the tense of the sentence given below.
I wrote articles on different topics
a. Past indefinite tense

b. Past Continuous Tense

c. Past Perfect Continuous Tense

d. Past Perfect Tense
Choose the option which best expresses the
given sentence in indirect speech.
He said, “I know a better shop.”

a. He said that he had knew a better shop

b. He said that he knew a better shop

c. He said that I knew a better shop

d. He said that he had known a better shop
Choose the correct option to complete the
conversation /dialogue.
Riya: With new improvements every year
inthe cyber world, parents have to
to continuously know if their kids are safe and
sound

a. save their own skin

b. have eyes in the back of their heads

c. big eyes d. None
You can always Radha for suggestions.

a. countup b. countout c. puton d. counton

Give the exact meaning of the idiom / phrases
given below.
To get cold feet

a. To be afraid

b. To fall ill/Sick

c. Feet which are cold

d. To become heartless
How many nouns are there in the sentence
given below?
Gita gave Rita a few exercises to solve

a. 1l b. 3 c.2 d. 4
Choose the option which shows correct position

of an adverb in a sentence:
John was tall to reach the top rack. (enough)

a. Enough John was tall to reach the top rack

b. John was tall enough to reach the top rack
c. John was tall to enough reach the top rack
d. John enough was tall to reach the top rack

Choose the most suitable option to complete the
sentence.

The property will be divided the three
sisters

a. Between b. Among

c. In d. None of these

Find Adjective in the given sentence. The wise,
handsome owl had orange eyes.

a. Wise, handsome b. Owl
c. Orange d. wise, handsome,
orange

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

Find the correctly spelt word.

a. Adventitus b. Adventitous
c¢. Adventituous d. Adventitious
Choose the correct spelling from the following.

b. Connoissure
d. Connoisseur

a. Conossieur

c. Connoseur
Choose the correct verb.
How long (you know) Ramesh
and Seema? We met the couple over twenty
years ago.

a. Have you known
c¢. Will known

b. you knowing
d. have you been
knowing

Rearrange them in the proper sequence in order
to make a meaningful sentences.
P. with each other
Q. as huge technological successes
R. to present their capital cities
S. at the turn of the century State leaders were
competing

a. PQRS b. SPRQ

A large crowd used to

c. SPQR d. QSPR
to listen to

his speech.
a. follow b. gather
c. deliver d. collect
One and you know who among

them is the culprit?

a. gaze b. sight c. peep d. look

The child did not approve the
father’s plan?
a. to b. by c. of d. with

Choose the alternatives which best express the
meaning of the Idioms/ Phrase
Good for nothing.

a. A useless or worthless person

b. Ordinary people in a society

c. A small amount of truth

d. very good person

Choose the one word substitution

Fear of dogs
a. Claustrophobia b. Cynophobia
c. Gamophobia d. Dipsophobia
Choose the question tag
He has scored well, ?
a. didn't it b. hasn’t he
c. isn'tit d. hadn’t he

Choose the word nearest in meaning

Amnesty
a. Pardon b. Retribution
c. Accuse d. Listless
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41.

42,

43.

44,

45.

46.

47.

How many squares dose the following figure

have?

a. 22

b. 20 c. 18 d. 16

How many triangles are there in the following
figure?

a. 12 b. 13 c. 14 d. 15
2 5 3

9 2 1 10

8 4 5

a.7 b. 8 c. 11 d. 6
8 13 9

12 5 ?

2 12 1

5 5 5

a. 16 b. 15 c. 18 d. 20

a. 36 b. 35 c. 39 d. 43

If Rohan is taller than Haridev who is shorter
than Sushil. Nizam is taller than Hari but
shorter than Haridev, Sushil is shorter than
Rohan. Who is the tallest ?

a. Haridev b. Rohan

d. Sushil

A man said to alady, “Your mother’s husband’s

sister is my aunt”. How is that lady related to

that man ?
a. Mother

c. Hari

b. Sister

c. Daughter d. Grandmother

48.

49.

50.

51.

52.

53.

54.

55.

56.

If “XII" is 4, XVIis 5 then XIII x XVIIis ?

a. 20 b. 25

c. 30 d. 35
Pick the odd one out.

a. YWU b. NLJ

c. KIF d. VIR
Mill : Cloth : : Factory : ?

a. Fiber b. Textile

c. Cement d. Oil
Swarm : Bee : : Flock : ?

a. Cattle b. Man

c. Sheep d. Fish
Complete the series?
45, 57, 69, 59, 38, ?

a. 82 b. 76 c. 49 d. 28

Complete the series?
3, 12, 27, 48, 75, 108, ?
a. 118

c. 147

b. 135
d. 152

Choose the alternative which is closely
resembles the ‘Mirror Image” of the given
combination.

SUPERVISOR
(1) A02IvA3que (2) 2NBEBAIZOH
(3) B2ONL2ELIA (4) 2NbEBAIOZE
a. 1 b. 2
¢ 3 d. 4

Choose the alternative which is closely
resembles the ‘Mirror Image’ of the given
combination.

MAGAZINE

(1) MADASIMI (2) InizaoAm
(3) MADAZINT (4) INISADAM
a. 1l b. 2

c.3 d. 4

Find the alphabet opposite of A?

a. C b. D
c.E d. F

[Payel/Cl-7_(Set-1)# 4]




WEST BENGAL SHINE TEACHER'S OF EDUCATION TALENT SEARCH EXAM, 2023
CLASS - VII
57. Three positions of a dice are given. Based on | 44
them find out which number is found opposite
the number 2 in the given cube. s 13 9
12 | 5 ?
2 [12 ] 1
(i) (i) 5 5 5
a. 6 b. 5 c.3 d. 1
58. If South-East becomes North, North-East a. 16 b. 15
becomes West and so on. What will West c. 18 d. 20
become?
a. North-East b. North-West
c. South-East d. South-West 5.
59. A man walks 5 km toward south and then turns
to the right. After walking 3 km he turns to the
left and walks 5 km. Now in which direction is
he from the starting place?’
a. North b. South
c. South-East d. None of these
60. Pointing to a photograph of a boy Suresh said, a. 36 b. 35
“He is the son of the only son of my mother.” 39 4 43
c. .

1.

42,

43.

How is Suresh related to that boy?

a. Brother b. Uncle

c. Cousin d. Father
evw Fora 6! CRITT W02 2

a. 22 b. 20 c. 18 d. 16

SR fora i fage =it ?

a. 12 b. 13
c. 14 d. 15
2 5 3
9 2 1 10
8 4 5
a. 7 b. 8
c. 11 d 6

46.

47.

48.

49.

50.
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c. d. Wl
i XII' 2T 4, XVIZT 5O XIII x XVIIF© T ?

a. 20 b. 25

c. 30 d. 35
fareref e o |

a. YWU b. NLJ

c. KIF d. VIR
e : T FIFAA 2

a. TR b. (GIHBIZA

c. PGS d. (91

[Payel/Cl-7_(Set-1)# 5]




WEST BENG AL SHINE TEACHER'S OF ED

UCATION TALENT SEARCH EXAM, 2023

CLASS - VII

51. Swarm : Bee:: Flock:?
a. oo b. ST
c. (o0 d. W%
52. IS =il g |
45, 57, 69, 59, 38, ?
a. 82 b. 76 c. 49 d. 28
53. (b sroslel =g |
3, 12, 27, 48, 75, 108, ?
a. 118 b. 135
c. 147 d. 152
54. fRH(G (A0 o A ewe TSR “Mirrir Image’ -7
AN FDSI A9 |
SUPERVISOR
(1) A02IvA3quUe (2) 2NLEBAIZOE
(3) B20NbLZ2EKIA (4) 2NbEBAIOZE
a. 1 b. 2 c. 3 d. 4
55. fREHG (A0 o A 2we AR “Mirrir Image’ -7
AN DI A9 |
MAGAZINE
(1) MADASINT (2) 3nIZADAM
(3) MADAZINT (4) INISADAM
a. 1 b. 2 c. 3 d. 4
56. A-4F [I9IFICS @9 ‘Letter’ IACH2
(i) (ii) iii)
a. C b. D c. E d. F
57. 36 Dice-47 foab SR (e 23 | ©Itid Soi
fofe S ave T 2 T9ET [AJTe @
FR2ANG AN O T T4 |
(i) (ii) (iii)
a. 6 b. 5 c. 3 d. 1
58. 3 wfEwd-5F Teq T AW, TeF-AF =@ AN

SAREN | OIRCe Sif*o% F 2012
a. W—‘»’BI/ b. Teg-* 5%
c. wiwel- 7 F d. WfERe-AfRow

59. @I (&NF wEe e ¢ [ 2RI I3 @3g
ST Tl E (IS (@17 | © W 207 #[9 1w
e 903 ¢ B 206 | 999 @1 ¥g7 sl @
@ M =Mtz 2

a. &g b. w=re
c. wiwFel-o d. fegg

60. O (REF TRF e 2fere I o e,
“O1 SN SR PG (=CET |7 (T2 (REET A
ICACHT A (o 2

a. ©i3 b. I
c. T9Ce % d. foret
1
61. 2 e 5 TR =T
a. 350 & b. 250 &I
c. 400 2% d. 450 &1
34 4
. 102 x6-x—= Fw?
62 03T
a 26— b. 271
13 15
c. 25° d 392
4 9
63. 110 &, 15 RECEAILNTIT o3l T ?
a. 0.53% b. 0.63%
c. 0.73% d. 0.83%
64. 5050 &F ACH! (FIF FAOT GASF sfRAN (et
FACE, 9T @6 sJefof 7 20 2
a.132  b. 134 c. 136  d. 138
A
65. ‘
40°
60°
B L) C
AABC & ZABC : Z/BAC : /BCA =?
a.3:2:6 b. 3:2:4
c.4:3:2 d. 6:3:2
66. 8 3R 18 T VLT[ 2S! T 2
a. 10 b. 12 c. 14 d. 16

2 2
b
67. a2+b2=5ab 304, 2—24‘—2 =39 ?
a

a. 23 b. 24
c. 25 d. 26
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68. 75 TG @0 G O 60 M (F0o! F© T

175 N6 Oy SIfeas T3 2
a. 10 (7 b. 12 (73
c. 15 (18 d. 18 (73
69. (T A5(CFCET T S 8 c.m., ©OIF AT M = 2
a. 242 b. 42
c. 632 d. 82
70. SITSCRCER 9o 2SNy GHITe i = 2
a. 60° b. 90°
c. 135° d. 180°
71, RWE AR, W 12, 15, 20 €< 54 71 ©19 FACO
2 owea 8 6 SRS At
a. 504 b. 536
c. 544 d. 548
72. T (@IOTS IR @ AT OE AR ?
a. 99 b. 101
c. 176 d. 182

73. 90 WA L.C.M 2&1 48 | A27ioffel Segsite 2 : 3|
OIS FRAI (N9IFeT Be —
a. 28 b. 32

c. 40 d. 64

74, (I FTF AN AL @19} T Tfoe 2497 | TS
ST 5, 6, 4 93% 3 7K1 Reiey =302
a3 b. 13 c. 23

75. SN L AT 5, 6, 7 992 8 B %] Fh0 {6
SRS 3 A, [ 9 @Il ©19 FACE (FI SRS
QReF =1 ¢

a. 1677
c. 2523

d. 33

b. 1683
d. 3363

76. HOoy TR A 7 = 2 26T 12, 16, 18, 21 @3k
28 fqerey o3 ¢

a. 1008 b. 1015 c. 1022 d. 1032
77. a7 @i Sfel oy 2
a.7-4=4-7 b. 7-4>4-7
c.7-4<4-7 d 7-4=-3
78. MR 7 FY ¢
—7-(_)=2
a.5 b. -5 c.9 d. -9

79.

80.

61.

62.

63.

64.

65.

66.

67.

7o I TN GF TORNH ZeT 60° €% O
AT @ vglice 251 28° | SIZCE (@iet 9Jfe1 2o
a. 30° €% 44° b. 34° @] 90°

c. 146° QR 34° d. 130°93R 60°

@ fage A 15cm, 36cm 3% 39cm | SIZTE
OIt [ <611 2 2

a. CHA b. Qg
c. ARAZ d. SHAET (@02 97
1
3 of 2kg="7?
a. 350 gm b. 250 gm
c. 400 gm d. 450 gm
101x6i><i=?
10 3 11
a. 261 b. 271
13 15
c. 25E d. 39E
4 9

15kg is what % of 110gm ?
a. 0.53% b. 0.63%
c. 0.73% d. 0.83%

What smallest positive integer is added to 5050
to get the result of a perfect square ?

a. 132 b. 134
c. 136 d. 138
A
40°
60°
B L C

AABC of ZABC: ZBAC: ZBCA =7

a.3:2:6 b. 3:2:4
c.4:3:2 d. 6:3:2
Mean proportional between 8 and 18 ?
a. 10 b. 12
c. 14 d. 16

2 2
b
If a2 + b2 = 5ab then z—2+—2
a
a. 23 b. 24
c. 25 d. 26
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68.

69.

70.

71.

72.

73.

74.

A train 75 meters long, running at a speed of
60km/h. How much time does the train take to
cross a 175m bridge ?

b. 12 sec.
d. 18 sec.

a. 10 sec.
c. 15 sec.

The length of diagonal of a square is 8cm. Find
out the length of its side ?

a. 242 b. 42
c. 62 d. 82

In a rectangle, what is the angle of rotational
symmetry ?

a. 60° b. 90° c. 135° d. 180
The least number, which when divided by 12,
15, 20 and 54 leaves in each case a remainder

of 8 is:
a. 504

c. 544

b. 536
d. 548

Which of the following has the most number of
divisors?
a. 99 b. 101
c. 176 d. 182
The L.C.M. of two numbers is 48. The numbers
are in the ratio 2 : 3. Then sum of the number is:
a. 28 b. 32

c. 40 d. 64

The least number which should be added to
2497 so that the sum is exactly divisible by 5,
6,4 and 3 is:

a. 3
c. 23

b. 13
d. 33

75.

76.

77.

78.

79.

80.

The least number which when divided by 5,
6 , 7 and 8 leaves a remainder 3, but when
divided by 9 leaves no remainder, is:

a. 1677 b. 1683

c. 2523 d. 3363
The smallest number which when diminished

by 7, is divisible 12, 16, 18, 21 and 28 is:
a. 1008 b. 1015 c. 1022 d. 1032

Which of the following statement is true?
a.7-4=4-7 b. 7-4>4-7

c.7-4<4-7 d 7-4=-3

Choose appropriate number for blank :

~7-(_)=2
a. 5 b. -5
c.9 d. -9

One third of sum of two angles is 60° and one
fourth of their difference is 28°. The angles are
a. 30° and 44° b. 34° and 90°

c. 146° and 34° d. 130° and 60°

A triangle whose sides are 15cm, 36cm, and
39cm is

a. Right angled b. Equilateral

c. Isosceles d. None of above
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